



TOPIC : 2.11. Newton's Backward Interpolation Formula

year = 0.4695

2. The following table gives the population of a town during the last six census. Estimate using Newton's formula the increase in the population during the period 1946-1948

Year: 1911	1921	1931	1941	1951	1961
Population in thousands: 12	15	20	27	39	52

Solution:

Difference table

x	y	Δy_0	$\Delta^2 y_0$	$\Delta^3 y_0$	$\Delta^4 y_0$	$\Delta^5 y_0$
1911	12					
		3				
1921	15		6			
		7		-6		
1931	20		0		11	
		7		5		-2
1941	27		5		-9	
		12		4		
1951	39		1			
		15				
1961	52					



Newton's forward formula is:

$$y(x) = y_0 + \frac{n}{1!} \Delta y_0 + \frac{n(n-1)}{2!} \Delta^2 y_0 + \frac{n(n-1)(n-2)}{3!} \Delta^3 y_0 + \frac{n(n-1)(n-2)(n-3)}{4!} \Delta^4 y_0 + \frac{n(n-1)(n-2)(n-3)(n-4)}{5!} \Delta^5 y_0 + \dots$$

$n = \frac{x - x_0}{h}$, $x = 1946$

$$n = \frac{1946 - 1941}{5}$$

$$n = 3.5$$

$$y(1946) = 12 + 3.5(11) + \frac{3.5(2.5)(6)}{2} + \frac{3.5(2.5)(1.5)}{6} + \frac{3.5(2.5)(1.5)(0.5)}{24} + \frac{3.5(2.5)(1.5)(0.5)(-0.5)}{120}$$

$= 30.18$

$x = 1948$

$$n = \frac{x - x_0}{h} = \frac{1948 - 1941}{7} = \frac{7}{7} = 1$$

$$y(1948) = 12 + 87 + \frac{37(27)(6)}{2} - \frac{(37)(27)(17)}{6} + \frac{(37)(27)(17)(27)}{24} + \frac{(37)(27)(17)(27)}{120}$$

$y(1948) = 35.50$

\therefore Increase in the population during the period
1946 to 1948 $= y(1948) - y(1946)$
 $= 35.50 - 30.18$
 $= 5.34$



SNS COLLEGE OF ENGINEERING
Coimbatore – 641 107





① Solve: $p^2 + x^2 y^2 q^2 = x^2 z^2$

Sol:

$$p^2 + x^2 y^2 q^2 = x^2 z^2$$

$$\div x^2, \quad \frac{p^2}{x^2} + y^2 q^2 = z^2$$

$$\text{Here } x^{-2} p^2 + y^2 q^2 = z^2$$

$$(x^{-1} p)^2 + (y q)^2 = z^2 \rightarrow \text{①}$$

This is of the form $f(x^m p, y^n q, z) = 0$

$$\text{Here } m = -1, \quad n = 1$$

$$\text{put } X = x^{1-m} \quad Y = y^n \log y$$

$$X = x^{1+1} \quad Y = y^1 \log y$$

$$X = x^2 \quad Y = \log y$$

$$\frac{\partial X}{\partial x} = 2x \quad a = \frac{\partial z}{\partial Y}$$

$$p = \frac{\partial z}{\partial x} \quad \frac{\partial z}{\partial y} = \frac{\partial z}{\partial Y} \cdot \frac{\partial Y}{\partial y}$$

$$\frac{\partial z}{\partial x} = \frac{\partial z}{\partial x} \cdot \frac{\partial X}{\partial x} \quad q = a \cdot \frac{1}{y}$$

$$p = 2x \cdot p \quad yq = a$$

$$\frac{p}{2x} = p$$

$$x^{-1} p = 2p$$

$$\text{①} \Rightarrow (2p)^2 + a^2 = z^2 \rightarrow \text{②}$$

This is of the form $f(p, a, z) = 0$



We use Type (3)

Let $u = x + ay$

$$\frac{\partial u}{\partial x} = 1, \quad \frac{\partial u}{\partial y} = a$$

$$P = \frac{\partial z}{\partial x} = \frac{dz}{du} \cdot \frac{\partial u}{\partial x}$$

$$P = \frac{dz}{du}$$

$$Q = \frac{\partial z}{\partial y} = \frac{dz}{du} \cdot \frac{\partial u}{\partial y}$$

$$Q = a \frac{dz}{du}$$

$$(2) \Rightarrow \left(2 \frac{dz}{du}\right)^2 + \left(a \frac{dz}{du}\right)^2 = z^2$$

$$(4 + a^2) \left(\frac{dz}{du}\right)^2 = z^2$$

$$\left(\frac{dz}{du}\right)^2 = \frac{z^2}{4 + a^2}$$

$$\frac{dz}{du} = \frac{z}{\sqrt{4 + a^2}}$$

$$\frac{dz}{z} = \frac{1}{\sqrt{4 + a^2}} du$$

$$\int \frac{dz}{z} = \int \frac{1}{\sqrt{4 + a^2}} du$$

$$\log z = \frac{1}{\sqrt{4 + a^2}} u + b$$

$$\log z = \frac{1}{\sqrt{4 + a^2}} (x + ay) + b$$

$$\log z = \frac{1}{\sqrt{4 + a^2}} (x^2 + a \log y) + b$$



2. Solve: $x^2 p^2 + y^2 q^2 = z^2$ (2) 20/11 2015 201

Sol:

$$x^2 p^2 + y^2 q^2 = z^2$$

$$(xp)^2 + (yq)^2 = z^2 \rightarrow \textcircled{1}$$

This eqn is of the form $f(x^m, y^n, z) = 0$

Here $m=1, n=1$.

$$\text{Put } x = \log x \quad y = \log y$$

$$\frac{\partial x}{\partial x} = \frac{1}{x} \quad \frac{\partial y}{\partial y} = \frac{1}{y}$$

$$P = \frac{\partial z}{\partial x} \quad Q = \frac{\partial z}{\partial y}$$

$$\frac{\partial z}{\partial x} = \frac{\partial z}{\partial x} \cdot \frac{\partial x}{\partial x} \quad \frac{\partial z}{\partial y} = \frac{\partial z}{\partial y} \cdot \frac{\partial y}{\partial y}$$

$$p = P \cdot \frac{1}{x} \quad q = Q \cdot \frac{1}{y}$$
$$xp = P \quad yq = Q$$

Sub in eqn $\textcircled{1}$, we get

$$P^2 + Q^2 = z^2 \rightarrow \textcircled{2}$$

This eqn is of the form $f(P, Q, z) = 0$

$$\text{Let } u = x + y$$

$$\frac{\partial u}{\partial x} = 1 \quad \frac{\partial u}{\partial y} = 1$$

$$P = \frac{\partial u}{\partial z} = \frac{dz}{du} \cdot \frac{\partial u}{\partial x} \quad Q = \frac{\partial z}{\partial y} = \frac{dz}{du} \cdot \frac{\partial u}{\partial y}$$

$$P = \frac{dz}{du}$$

$$Q = \frac{dz}{du}$$



Sub in (2) we get

$$\left(\frac{dy}{dx}\right)^2 + \left(a \frac{dz}{du}\right)^2 = z^2 \rightarrow (3)$$

$$\left(\frac{dz}{du}\right)^2 + a^2 \left(\frac{dz}{du}\right)^2 = z^2$$

$$(1+a^2) \left(\frac{dz}{du}\right)^2 = z^2$$

$$\left(\frac{dz}{du}\right)^2 = \frac{z^2}{1+a^2}$$

$$\frac{dz}{du} = \frac{z}{\sqrt{1+a^2}}$$

$$\frac{1}{z} dz = \frac{1}{\sqrt{1+a^2}} du$$

$$\int \frac{dz}{z} = \int \frac{1}{\sqrt{1+a^2}} du$$

$$\log z = \frac{1}{\sqrt{1+a^2}} u + c$$

$$\log z = \frac{1}{\sqrt{1+a^2}} (x+ay) + c$$

$$\log z = \frac{1}{\sqrt{1+a^2}} (\log x + a \log y) + c$$

which is the complete solution.



① Solve $z^2(p^2 + q^2) = x^2 + y^2$

Sol.

Given $z^2(p^2 + q^2) = x^2 + y^2$
 $(zp)^2 + (zq)^2 = x^2 + y^2 \rightarrow \text{①}$

This eqn is of the form $f_1(x, z^m p) = f_2(y, z^m q)$

Here $m \neq -1$,

Put $z = z^{m+1}$
 $\Rightarrow z = z^{1+1} = z^2$

$$\frac{\partial z}{\partial x} = \frac{\partial z}{\partial z} \cdot \frac{\partial z}{\partial x}$$

$$p = 2zp$$

$$\frac{p}{2} = zp$$

Similarly, $\frac{q}{2} = zq$

Sub in eqn ①, we get

$$\left(\frac{p}{2}\right)^2 + \left(\frac{q}{2}\right)^2 = x^2 + y^2$$

$$p^2 + q^2 = 4(x^2 + y^2)$$

$$p^2 - 4x^2 = -q^2 + 4y^2$$



This eqn is of the form $f_1(x, p) = f_2(y, q)$

$$0 = (p \dots) \therefore p^2 - 4x^2 = 4y^2 - q^2 = 4a^2$$
$$p^2 = 4a^2 + 4x^2 \quad q^2 = -4a^2 + 4y^2$$
$$p = 2\sqrt{a^2 + x^2} \quad q = 2\sqrt{y^2 - a^2}$$

$$dz = p dx + q dy$$
$$dz = 2\sqrt{a^2 + x^2} dx + 2\sqrt{y^2 - a^2} dy$$
$$\int dz = 2 \int \sqrt{a^2 + x^2} dx + 2 \int \sqrt{y^2 - a^2} dy$$
$$z = 2 \left[\frac{x}{2} \sqrt{x^2 + a^2} + \frac{a^2}{2} \sinh^{-1} \left(\frac{x}{a} \right) + \frac{y}{2} \sqrt{y^2 - a^2} - \frac{a^2}{2} \cosh^{-1} \left(\frac{y}{a} \right) \right] + b$$
$$z = x\sqrt{x^2 + a^2} + a^2 \sinh^{-1} \left(\frac{x}{a} \right) + y\sqrt{y^2 - a^2} - a^2 \cosh^{-1} \left(\frac{y}{a} \right) + b$$
$$= x\sqrt{x^2 + a^2} + y\sqrt{y^2 - a^2} + a^2 \left[\sinh^{-1} \left(\frac{x}{a} \right) - \cosh^{-1} \left(\frac{y}{a} \right) \right] + b$$



2. Solve : $p^2 + q^2 = z^2(x^2 + y^2)$

Sol: $p^2 + q^2 = z^2(x^2 + y^2) \rightarrow \text{---} \textcircled{1}$

$\left(\frac{p}{z}\right)^2 + \left(\frac{q}{z}\right)^2 = x^2 + y^2$

This eqn is of the form

$$f_1(x, z^m p) = f_2(y, z^n q)$$

Here $m = -1$.

put $z = \log z$.

$$\frac{\partial z}{\partial x} = \frac{\partial z}{\partial z} \cdot \frac{\partial z}{\partial x}$$

$$P = \frac{1}{z} \cdot p$$

Similarly, $Q = \frac{1}{z} \cdot q$

Sub in eqn $\textcircled{1}$, we get

$$p^2 - x^2 = y^2 - a^2$$
 This eqn is of the form $f_1(x, p) = f_2(y, q)$ type (4)

$$p^2 - x^2 = y^2 - a^2 = a^2$$

$$p^2 - x^2 = a^2 \qquad y^2 - a^2 = a^2$$

$$p^2 = x^2 + a^2 \qquad a^2 = y^2 - a^2$$

$$p = \sqrt{x^2 + a^2} \qquad a = \sqrt{y^2 - a^2}$$

$$dz = p dx + q dy$$

$$dz = \sqrt{x^2 + a^2} dx + \sqrt{y^2 - a^2} dy$$

$$\int dz = \int \sqrt{x^2 + a^2} dx + \int \sqrt{y^2 - a^2} dy$$

$$z = \frac{a^2}{2} \sinh^{-1}\left(\frac{x}{a}\right) + \frac{x}{2} \sqrt{a^2 + x^2}$$

$$+ \frac{y}{2} \sqrt{y^2 - a^2} - \frac{a^2}{2} \cosh^{-1}\left(\frac{y}{a}\right) + b.$$

$$\log z = \frac{a^2}{2} \sinh^{-1}\left(\frac{x}{a}\right) + \frac{x}{2} \sqrt{a^2 + x^2}$$

$$+ \frac{y}{2} \sqrt{y^2 - a^2} - \frac{a^2}{2} \cosh^{-1}\left(\frac{y}{a}\right) + b.$$